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’ 100kN/mM%#BZ 5% -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 6.60 83.23| #h L4t |0.00 ~ 6.60| 1.75 9.38 s 1.00f 500 ~ 7.90 83.23| #nkl4t | 500 ~ 790 1.75 9.38
9 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 6.84 86.58| = Llst |0.00 ~ 0.00| 1.65 8.81 s 1.00f 500 ~ 8.70 86.58| #n L4t | 500 ~ 870 1.65 8.81
3 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 455 56.75| #h L4t | 0.00 ~ 455 1.90 10.16 s 1.00f 500 ~ 5.00 56.75| #hLlst | 5.00 ~ 500 1.90 10.16
4 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
ZHnLs 1.00/0.00 ~ 7.32 93.22| #h L4t 1000 ~ 7.32| 1.83 9.79 s 1.00f 500 ~ 9.50 93.22 #h 4+ | 500 ~ 950 1.83 9.79
5 100kN/m##8 %% 1.00{ 0.00 ~ 2.99 147.57|3m%x# %%/ 0.00 ~ 0.48| 3.29 17.58| 100kN/m#%#B 2% 1.00{ 11.05 ~ 25.76 147.57| 3m%x#8% %] 25.00 ~ 25.76| 3.29 17.58
s 1.00]2.99 ~ 10.78 100.00f Z=hkl9t |0.48 ~ 10.78] 3.00 16.05 s 1.00f 500 ~ 11.05 100.00f Z=hkl4t+ | 5.00 ~ 25.00f 3.00 16.05
6 100kN/m##8 %% 1.00{ 0.00 ~ 3.29 152.80| 3m*x# %% 0.00 ~ 0.28 3.16 16.89| 100kN/m#%#B 2% 1.00{ 10.64 ~ 29.07 152.80| 3m#*x#% %] 25.00 ~ 29.07| 3.16 16.89
s 1.00{3.29 ~ 11.08 100.00f Z=hkl9t |0.28 ~ 11.08] 3.00 16.05 s 1.00f 500 ~ 10.64 100.00f Z=hl4t+ | 5.00 ~ 25.00f 3.00 16.05
7 100kN/m##8 %% 1.00]0.00 ~ 3.21 151.37| 3m%x#B2 5 = Kad = = —| 100kN/mM%#2 % % 1.00{ 10.64 ~ 27.90 151.37| 3m%x#B 25 =l ~ - - =
s 1.00{3.21 ~ 11.00 100.00f Z=hkl9t |0.00 ~ 11.00] 2.80 15.00 s 1.00f 5.00 ~ 10.64 100.00f Z=hl4+ | 5.00 ~ 27.90] 2.80 15.00
8 100kN/m##8 %% 1.00{0.00 ~ 3.23 151.61|3m%x#82 5 = Kad = = —| 100kN/mM%#2Z % 1.00{ 10.83 ~ 28.04 151.61|3m%x#B25 =l ~ - - =
s 1.00] 3.23 ~ 11.01 100.00f Z=hkist |0.00 ~ 11.01] 2.87 15.34 s 1.00f 5.00 ~ 10.83 100.00| Z=hl4t+ | 5.00 ~ 28.04] 2.87 15.34
9 100kN/m##8 %% 1.00{ 0.00 ~ 348 156.00| 3m#%#% %] 0.00 ~ 0.37] 3.20 17.10| 100kN/m#%#8 2.5 1.00{ 10.54 ~ 33.85 156.00| 3m#*#% %] 25.00 ~ 33.85| 3.20 17.10
s 1.00]3.48 ~ 11.26 100.00f Z=hkl4t+ |0.37 ~ 11.26] 3.00 16.05 s 1.00f 500 ~ 10.54 100.00f Z=hl4t+ | 5.00 ~ 25.00[ 3.00 16.05
10 100kN/m##8% % 1.00{ 0.00 ~ 3.57 157.77| 3m%#% %] 0.00 ~ 0.38] 3.20 17.15| 100kN/m#%#8 2% 1.00{ 10.55 ~ 36.23 157.77| 3m%x# % %] 25.00 ~ 36.23| 3.20 17.15
s 1.00] 3.57 ~ 11.36 100.00f Z=hkl9t+ | 0.38 ~ 11.36] 3.00 16.05 s 1.00f 5.00 ~ 10.55 100.00f Z=hkl4t+ | 5.00 ~ 25.00f 3.00 16.05
11 100kN/m##8% % 1.00{ 0.00 ~ 342 154.95|3m%x# %% 0.00 ~ 0.29( 3.15 16.86| 100kN/m#%#B 2% 1.00{ 10.53 ~ 34.23 154.95| 3m%x#8% %] 25.00 ~ 34.23| 3.15 16.86
s 1.00{ 342 ~ 11.20 100.00f Z=hkl9t |0.29 ~ 11.20] 3.00 16.05 s 1.00f 5.00 ~ 10.53 100.00f Z=h 4t | 5.00 ~ 25.00f 3.00 16.05
12 100kN/m##8% % 1.00{ 0.00 ~ 255 140.00| 3m%*#B 25 = Kad = = —| 100kN/mM%#BZ % 1.00{ 10.84 ~ 25.57 140.00| 3m%*#B 2.5 =l ~ - - =
ZHnLs 1.00] 2.55 ~ 10.33 100.00f Z=hkl4t+ | 0.00 ~ 10.33] 2.57 13.73 s 1.00f 500 ~ 10.84 100.00| Zhkl4t+ | 5.00 ~ 2557| 2.57 13.73
13 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00]0.00 ~ 429 53.65| Zh L4t |0.00 ~ 4.29| 1.99 10.65 s 1.00f 500 ~ 5.00 53.65| #n L4t | 500 ~ 500 1.99 10.65
14 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00{0.00 ~ 1.88 26.44| Fh L4t 1000 ~ 1.88| 2.62 14.03 s 1.00f 500 ~ 5.00 26.44 #hLl4+ | 500 ~ 500 2.62 14.03
15 100kN/m##8% % 1.00{0.00 ~ 1.37 120.86| 3m%x #8235 = Kad = = —| 100kN/mM%#BZ % 1.00{ 10.53 ~ 14.99 120.86| 3m*x#B =25 =l ~ - - =
s 1.00]1.37 ~ 9.16 100.00| ZhList 10.00 ~ 9.16 2.19 11.74 s 1.00f 5.00 ~ 10.53 100.00| ZhLlst | 500 ~ 14.99| 2.19 11.74
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16 100kN/m##8% % 1.00{0.00 ~ 235 136.65| 3m%x 825 = Rt = = —| 100kN/mM%#2 % % 1.00{ 10.56 ~ 20.00 136.65| 3m%x B2 5 =l ~ - - =
s 1.00]2.35 ~ 10.13 100.00f Z=hki4t |0.00 ~ 10.13] 2.76 14.76 s 1.00f 5.00 ~ 10.56 100.00f Z=hl4t | 5.00 ~ 20.00f 2.76 14.76
17 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00/0.00 ~ 3.93 49.36| =#kst |0.00 ~ 3.93| 2.09 11.20 s 1.00f 500 ~ 5.00 49.36| =nkst | 500 ~ 5.00 2.09 11.20
18 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00] 0.00 ~ 456 56.82| ZFhLlst = R - - - s 1.00f 500 ~ 5.00 56.82 Z=hLlst = e - - =
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
ZFhst ~ ZFhLst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
ZFhst ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
Fhst ~ ZFhLst ~ st ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
ZFhst ~ st ~ st ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
Zhst ~ ZFhLst ~ st ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImEBAD ~
Fhst ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
Fhst ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
Fhst ~ st ~ FhLst ~ ZhLst ~
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